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MATHEMATICS
TRIGONOMETRY
GRADE 11
NOTES
Grade 11 Maths Essentisls TRIGONGB{EI‘RY SCENCE CLINIC 2009 &
BASIC DEFINITIOMNS BASIC CAST DIAGRAM FUNDAMENTAL TRIG REDUCTION FORMULAE
Shows the quadrants where each trig ratio is + IDENTITIES Reduring all angles o acute angles.
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TRIGONOMETRY

Grade 11 Maths Essentials SCENCE CLINIC 3019 &
NEGATIVE ANGLES CO-FUNCTIONS FULL CAST DIAGRAM
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X +y =1
¥ (3)T =2 v' subst
xt =1
x ==l
x=1 (since P lies in the 1° quadrant/aangesien Pin | v x=1
die 1% kwadrant lé) (2)
552 [y
5.5. . J3 .
sin POT = v' correct ratio/
. korrekte verh
POT = 600 ,/ 600
POT +a =90°
a =90°—-060°
=30° V' answer/antw
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5.5.3 .
: sin(—30°) = i v" correct ratio/

_ 20 korrekte verh
b=20 Sll](—3 OO) v b= 205i11(—300)
b=-10 v b=-10
cos(—30°) = a o

20 v' correct ratio/

a =20cos(-30°)
a=103 OR/OF 17.32
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OR/OF

0Q* = 400
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2a = —2\/553

a= —\Eb

(212 L 12 — 400

korrekte verh

v a=1043 OR17.32

v’ subst into distance
formula/subst in
afstandformule

v’ subst into distance
formula/subst in
afstandformule

v a = —\-"Ilgb







